
'LPHQVLRQHV�GH,QVWDODFLyQ
$��������)���7'0$������)�7'0�(3

%ULGD�����������
�

7LSR�GH�'HVSOD]DGRU�$FHUR�,QR[LGDEOH&������������'���������(�������/tPLWH�GH�$MXVWH�$0LQ���������������������0i[������%0LQ���������������������0i[������

0
:

9

$
% +

' &

09 : ��0(&�1(0$�� 67' �� �� ���1(0$�� + ��� �� ���1(0$�� (3��F�G ��� �� ���(S��E ��� ��� ���

&$%(=$/(6

�
�%ULGD�GH�&RQH[LyQ�2SF��������������������������������������2WUDV��FRQVXOWDU

3UHVLyQ�0i[�0RGHOR %������DWP0RGHOR $������DWP7HPS��0i[������&'HQVLGDG�GH�RSHUDFLyQ������D����

1RWD��&RWDV�+������PP���/�����PP�FRQ�DJXD�3DUD�HO�DOWR�QLYHO+�����PP��/�����PP��'HQVLGDG���D�� ���&��7ROHUDQFLD�������PP��2WUDV�GHQVLGDGHV�\�WHPSHUDWXUDV� �FRQVXOWDU�FRWDV�

1RWD� �&RQH[LyQ�HOpFWULFD�1(0$����67'������1371(0$����67'����%632SF��������%63�������137�����1371(0$���	����67'����%63��F�G����������������������������137��E�

1RWD��

(/

$FWXDFLyQ$OWR1LYHO

$FWXDFLyQ%DMR1LYHO

$FWXDFLyQ%DMR1LYHO /
$FWXDFLyQ$OWR1LYHO +

/DV�0HGLGDV�3XHGHQ�VHU�FDPELDGDV�SRU3(/721�VLQ�SUHYLR�DYLVR

2SHUDFLyQ�y �'RV�VHxDOHV��FRPDQGR�R�DODU PD��FRQGLVWDQFLD�YDULDEOH�GH�GLIHUHQFLDO�ILMR��0i[�����DPS#���9$&��

127$��3DUD�WHPSHUDWXUDV�VXSHULRUHV�D�����&��VH�LQFRUSRUDXQ�GLVLSDGRU�WpUPLFR�GH�DFXHUGR�D�OD�WHPSHUDWXUD�Pi[��GHRSHUDFLyQ����0i[�7HPS��FRQ�'LVLS�������&�


